QANQN.EU,RQ
Canonbury Home Learning PRIMARY SCHOOL

Year 6 Maths

Developing activity

Lesson 4

LO: TBAT use properties to identify shapes.
Success Criteria:

1. Recap shape vocabulary.
2. Read the statements.

3. Maich the statements to the correct shapes.
Model

| Now you try...
Vocabulary Read the clues and write down the letter and name
. g ‘ of the shape that each set of clues describes.
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Expected/ Greater depth activity

Lesson 4
LO: TBAT solve problems including 2D shapes.
Task:

You are going apply your knowledge to solve several problems including 2D shapes.

Success Criteria:

1. Use properties to identify the shapes.

2. Revise 2D knowledge.

3. Draw the required 2D shapes accurately.

4. |dentify the correct shape according to the descriptions.

Recap:
Types of Triangles
"Vocabulary By Side =
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Equilateral Triangle £ ®  Acute triangle
has three equal sides L7 has three angles < 90°
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Main activity

Complete at least 2 columns, more if you can!
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63 x5=

Task 1 Task 2 Task 3 Task 4
Practice Arithmetic Problem Solving Redasoning
Match the properties to 385-1= Task 1
the ShOpe, Task 1 Dora and Eva are asked how many
Here is a sketch of a triangle. deﬂg’g“ ':e\:: are between North-West
- al outh-West
It is not drawn to scale.
o 9 Dora says,
2 l 258 x 1=
It has 4 equal It has only '
sides and 4 l one set of pes) mbetweere :GN?NO ::gr ;:vs
equal angles. ! parallel sides, | /
e o o - ’ Not to
scale
(2] %) 28+7= By,
7 ° There are 270"
It has 9 sides. | Ithas only 35 A
Someare 4] one pair of ’b'a 4 e AN )
perpendicular | pgrpendlculur l T /
and some are sides.
paraltel. J R 4598 + 1000 = Draw the full-size triangle accurately. ‘é"'ho do you agree with?
xplain why.
6 o n Use an angle measurer (protractor) and a ruler.
246 x 0= Task 2
Iti ! One line has been drawn for you. - ) )
h‘eii: "r?“l"' © lthas 7sides | If it takes 60 minutes for the minute hand
Sttt SRS L. | to travel all the way around the clock, how
many degrees does the minute hand
Task 2 travel in:
@ 0 9876 A bicycle wheel has a diameter of 64 cm. * 7 minutes
Ith al It has two pairs + 2345 * 12 minutes
obtgswzoer:ges ;. of parallel What is the radius of the bicycle wheel?
and Zunequal = Sides butno . .
acute’ onge?es - perpendicuiar ng many minutes have passed if the
i sides. minute hand has moved 162°?
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Task 3 Task 3
Clrcle the pentagon with exactly four acute angles,
Always, sometimes, never.

E to SE in a clockwise direction > 90°

Task 4
Alex measures this angle:

\

Task 4 She says it is 130°

Lok at the lefiers below.

W to S = 90 degrees
NE to SW = 180 degrees

Circle 2 iefier below that has both paraliel and perpendicular fines
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Explain what she has done wrong.




